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1. In the course, we have solved the particular solution (steady state solution) of the SDOF

vibration system
Z + z = cos(3t)
I+ x = sin(3t)

(1). conventional method.

(2). method of complex variables.

(3). Discuss the change of amplitude and phase between input and output and plot it in complex
plane.

(Hint: by superimposing real and imaginary part)

2. Solve the particular solution (steady state solution) of the SDOF vibration system
I+ &+ = cos(3t)
&+ &+ = sin(3t)

(1). conventional method.

(2). method of complex variables.

(3). Discuss the change of amplitude and phase between input and output and plot it in complex
plane.

(Hint: by superimposing real and imaginary part)

3. Solve the particular solution (steady state solution) of the SDOF vibration system
E+ &+ = cos(3t)
I+ &+ x = sin(3t)

(1). check the phase of z,(t) = a cos(3t) + b sin(3t) = ccos(3t + ¢)
(2). check the phase of z,(t) = pcos(3t) + q sin(3t) = r sin(3t + 1)
(3). check the pahse of z = Re® it

(4). What is the relation of ¢,r and R ?

(5). What is the relation of ¢, and 6 7
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